The group G is isomorphic to the group labelled by [ 1080, 260 ] in the Small Groups library.
Ordinary character table of G = C3 . A6:

la 2a 3a 3b 3¢ 3d 4a 5a 5b 6a 6b 12a 12b 15a 156 15¢ 15d

X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

Xe | 3 -1 3xE@BY2 3xEG@) 0 0 1 —-EGB6/2-EG13 -EG) -EGY4  —EB) —EGBC2 EGBC2  EB) —B(A5,2-E(1508  —E(15)—E(504  —E(157 11— EBE(150 14 —E(15) 7 — B(15)" 13

Xs | 3 -1 B3%EB3) 3xEB°2 0 0 1 —-EGr2-EGBS3 —EGB) —EG 4 —EGBY2  —E@3) E(3)  EBY2 —E15\T7T—E(15713 —E(157 11— E(150 14  —E(15) — E(15) 4 —E(15)°2— E(157°8

xa |3 -1 3xEBV2 3+«EG@) 0 0 1 -EG)—EGr4 —EGr2-EG13 —E@3 —E(3Y2 E@BY2  EB) —EQ1511-E(15014 —EQ15°7—E(5013  —E(15) 2 — E(15)8 —EB(15) — B(15)" 4

Xs | 3 -1 3%EB) 3+«EGBY2 0 0 1 —EG) -EGr4 -—EGY2-EGB3 —-BE@BN2  —E(@3) E(3)  E@B3Y2  —E(15) -E(15°4  —B(1502-E(1508  —E(15)7— E(15)° 13 —E(15) 11 — B(15) 14

X6 5 1 5 5 -1 2 -1 0 0 1 1 -1 -1 0 0 0 0

X7 5 1 5 5 2 -1 -1 0 0 1 1 -1 -1 0 0 0 0

Xs | 6 2 6xE@BY2 6xE@B) 0 0 0 1 1 2% B(3) 2+ E(3)2 0 0 E(3) E(3)2 E(3) E(3)2

Xo | 6 2  6%E@3)  6+xEBY2 0 0 0 1 1 2% B(3)°2 2% E(3) 0 0 E(3) 2 E(3) E(3)2 E(3)

Xo| 8 0 8 8 1 -1 0 -EGBY2-EGY3  —E(5)-EGY 4 0 0 0 0 —E(5) — B(5) 4 —E(GY 2 B(5)3 _E(GY2- E(G)3 —E(5) - BE(5) 4

xii|8 0 8 8 1 1 0 —E(3)—EGr4  —EGy2- BBr3 0 0 0 0 —E(512 - E(5)3 —E(5) - E(5) 4 —E(5) - E(5) 4 —E(5)°2 - E(5)3

xi2| 9 1 9 9 0 0 1 -1 -1 1 1 1 1 -1 -1 -1 -1

xi3| 9 1 9xE(3)2 9% E(3) 0 0 1 -1 -1 E(3) E(3) 2 E3) 2 E(3) —E(3) —E(3)"2 —E(3 —E(3)"2

xu|9 1 9«E@B)  9+EBY2 0 0 1 ~1 ~1 E(3Y2 E(3) EB3)  E(B3)2 —E(3)y2 —E(3) —E(3)y°2 —E(3)

Xi5 [ 10 =2 10 10 1 1 0 0 0 ) 2 0 0 0 0 0 0

Xi6 |15 —1 15xE@Y2 15xE@3) 0 0 -1 0 0 —E(3) -E@BY2 -EBY2 —E@3) 0 0 0 0

Xir |16 —1 15+ E(3) 15+EBY2 0 0 -1 0 0 —E(BY2  -EGB)  -E(B3) -—EB3) 2 0 0 0 0
Trivial source character table of G =2 C3 . A6 at p = 3
Normalisers N; Ny Ny N3 Ny Ny Ng N7
p — subgroups of G up to conjugacy in G P P, Ps Py Ps Ps P;
Representatives n; € N; la 2a 4a 5a 5b la 2a 4a 5b 5a la 2a |la 2a |la 2a |la 2a |la 2a 4a 4a
1-x1+0-x2+0-x3+0-xa+0-xs+1-x6+1-x7+2-x8+2-x9+1-x0+1-x11+0-x12+0-x13+0-x14a+0-x15+1-x6+1-x17| 8 9 =3 6 6 0 0 0 0 0 O o0 O]O0O O]O0 OO0 O 0 0
O-x1+1-x2+1-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-Xxo+1-x10+0-x11+0-x12+0-x13+0-x1a+1-xi5+1-x6+1-x17| 54 —6 0 —3xE(B)2-3«xE(5B)3 —3xE(5)—3%xFE((5)4 0 0 0 0 0 o o0 O]O0O O]O OO0 O 0 0
O0-x1+0-x2+0-x3+1-xa+1-x5+0-x6+0-x7+0-xs+0-x9+0-x10+1-x11+0-x12+0-x13+0-x1a+1-x15+1-x6+1-x17| 54 —6 0 —3xE()—3xE(B)4 -3xE(5B)2-3xE()73|0 0 0 0 0 0O 0|0 O]O0O OO OO0 O 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+1-x6+1-x7+1-xs+1-x0+1-x10+1-x11+0-x12+0-x13+0-x14+1-x15+2-x16+2-x17|108 0 —6 3 3 0 O 0 0 0 o 0|0 O]O O]]O0O OO0 O 0 0
O0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+1-x12+1-x13+1-x14+0-x15+0-x16+0-x17| 27 3 3 -3 -3 0 O 0 0 0 o oOj0O0 O}O0O OO0 OO0 O 0 0
1-x1+0-x2+0-x3+0-x4+0-x5+1-x6+1-x7+0-xs+0-xo+1-x10+1-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17| 27 3 ~—1 2 2 2r 3 -1 2 2 6o 060 O0}0 OO0 OO0 O 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x74+0-xs+0-x0+1 -x10+0-x11+0-x12+0-x13+0-x14a+1-x15+0-x16+0-x17| 18 -2 0 —E(By2-E(5)3 —E()—-E(B) 4 18 -2 0 —E()—E(bB)4 —-EGBy2-EGB)3|0 0]0 0|0 0|0 O0O]O0 O 0 0
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+1-x11+0-Xx12+0-x13+0-x1a+1-x15+0-x16+0-x17| 18 -2 0 —E(5)—-E(5) 4 —E(5)2-E((5)3 18 -2 0 —-E(B]2-E(5)3 -EG5)-EG5)4 |0 070 00 0[]0 0]0 0 0 0
O0-x1+0-x2+0-x3+0-x4a+0-x5+1-x6+1-x7+0-xs+0-xo+1-x10+1-x11+0-x12+0-x13+0-x14+1-x15+0-x16+0-x17| 36 0 -2 1 1 36 0 -2 1 1 O 0|0 O]JO OO0 OO0 O 0 0
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x74+0-xs+0-x9+0-x10+0-x11+1-x12+0-x13+0-x14+0-x15+0-x16+0-x17| 9 1 1 -1 -1 9 1 1 -1 -1 O o0 O]O O]O0O OO0 O 0 0
T-x1+0-x2+0-x3+0-x4+0-x5+1-x6+0-x7+1-xs+1-xX0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17| 18 6 3 3 0 0 0 0 0 3 370 00 OO0 O]0 O 0 0
0-x1+0-x2+0-x34+0-x4+0-x5+1-x6+0-x7+0-xs+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14a+1-x15+1-x16+1-x17| 45 -3 -3 0 0 0 0 0 0 0 3 =310 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-x4+0-x5+0-x6+1-x7+1-xg+1-x9+0-x10+0-x11+0-x12+0-Xx13+0-x14+0-x15+0-x16+0-x17| 18 6 0 3 3 0 0 0 0 0 6o 03 3]0 00 0|0 O 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+1-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-xau+1-xi5+1-x6+1-x17| 45 -3 -3 0 0 0 0 0 0 0 6 0}]3 =3/0 0J0 0]0 O 0 0
1-x14+0-x2+0-x3+0-xa+0-x5+1-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17| 6 2 0 1 1 6 2 0 1 1 3 1,0 03 1,0 0]0 O 0 0
0-x1+0-x2+0-x3+0-x4+0-x5+1-x6+0-x7+0-xs+0-X9+0-x10+0-x11+0-x12+0-x13+0-x14+1-x15+0-x16+0-x17| 15 -1 -1 0 0 5 -1 -1 0 0 3 =170 0|3 —-1,0 0|0 O 0 0
1-x14+0-x24+0-x34+0-xa+0-x5+0-x6+1-x7+0-xs+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17 6 2 0 1 1 6 2 0 1 1 0 0 3 1 0 0 3 1 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+1-x7+0-x8+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+1-x15+0-x16+0-x17| 15 -1 -1 0 0 15 -1 -1 0 0 o 0|3 —-1{0 03 =110 0 0 0
1-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17| 1 1 1 1 1 11 1 1 1 r 1|1 1,1 1 ]1 1|1 1 1 1
0-x1+0-x2+0-x3+0-xa+0-x5+1-x6+1-x74+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17| 10 2 =2 0 0 10 2 -2 0 0 1 1 1 1 1 1 1 1 1 1 -1 -1
0-x1+0-x2+0-x34+0-x4+0-x5+0-x6+0-x7+0-xs+0-x9+0-Xx10+0-x11+0-x12+0-x13+0-x14+1-x15+0-x16+0-x17| 10 -2 0 0 0 10 =2 0 0 0 1 —-1]1 =11 —=1{1 =-1|1 -1 —E@4) E@4)
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+1-x15+0-x16+0-x17| 10 -2 0 0 0 10 -2 O 0 0 1 -1{1 —-1{1 -1}1 —-1}1 -1 E®#4) -E4

Py = Group([()]) = 1
P, = Group([(1,5,3)(2,9,8)(4,12,10)(6, 7, 13)(11, 16, 14) (15, 18 17)]) C3
Group([(1,9,6)(2,13,3)(4,12,10)(5,8,7)(15,17, 18)]) =
P, = Group([(1,9,7)(2,6,3)(4,11,15)(5,8,13)(10, 14, 17)(12, 16 18)]) = €3
Group([(1,5,3)(2,9.8)(4,12,10)(6.7, 13)(11, 16, 14)(15, 18, 17), (2,9, 8)(4, 11, 18)(6, 13, 7)(10, 14, 15)(12, 16, 17)]) = C3 x C3
Py = Group([(1,5,3)(2,9,8)(4, 12, 10)(6, 7, 13)(11, 16, 14)(15, 18, 17), (1,9, 7)(2. 6, 3) (4, 11, 15)(5, 8, 13)(10, 14, 17)(12, 16, 18)]) = C3 x C3
Py = Group([(2,9,8)(4, 11,18)(6, 13,7)(10, 14, 15)(12, 16, 17), (1, 9, 6)(2, 13, 3)(4, 12, 10)(5, 8, 7)(15, 17, 18)]) = (C3 x C3) : C3
Ny = Group([(1,2,7,4)(3,8,6,10)(5,9,13,12)(11, 15)(14, 17)(16, 18), (2, 6)(4, 11)(7,9)(8, 13)(10, 14)(12, 16)]) = C3 . A6
Ny = Group([(1,2,7,4)(3,8,6,10)(5,9,13,12)(11, 15)(14, 17)(16, 18), (2, 6)(4, 11)(7,9)(8, 13)(10, 14)(12,16)]) = C3 . A6
N3 = Group([(1,5,3)(2,6,8,13,9,7)(4,17,10,18, 12, 15)(11, 16, 14), (2, 13) (4, 18)(6,9)(7, 8)(10, 15)(12, 17), (1,9, 6)(2, 13, 3) (4, 12, 10) (5, 8 ,7)(15 17,18)]) = C3 x S3
Ny = Group([(1.5,3)(2,9,8)(4, 12, 10)(6,7, 13)(11, 16, 14)(15, 18, 17), (2, 6)(4, 11)(7, 9)(8, 13)(10, 14)(12, 16), (1,9, 7)(2, 6, 3) (4, 11, 15)(5, 8, 13)(10, 14, 17)(12, 16, 18)]) = C3 x S3
Ny = Group([(1,5,3)(2.9,8)(4, 12, 10)(6, 7, 13) (11, 16, 14)(15, 18, 17, (2, 7)(6, 8)(9, 13) (11, 18)(14, 15)(16, 17), (2, 9, 8)(4, 11, 18)(6, 13, 7)(10, 14, 15)(12, 16, 17), (1,7, 2)(3, 6, 8)(5, 13,9)(11, 16, 14)(15, 17, 18)]) = ((C3 x C3) : C3) : C2
Ne = Group([(1,5,3)(2.9,8)(4, 12, 10)(6, 7, 13) (11, 16, 14)(15, 18, 17), (2, 7)(6, 8)(9, 13) (11, 18)(14, 15)(16, 17), (2, 13)(4, 18)(6,9)(7, 8)(10, 15)(12, 17), (1,9, 7)(2, 6, 3)(4, 11, 15)(5, 8, 13)(10, 14, 17)(12, 16, 18)]) = ((C3 x C3) : C3) : C2
N = Group([(2,9,8)(4, 11, 18)(6, 13, 7)(10, 14, 15) (12, 16, 17), (2, 13)(4, 18)(6,9)(7, 8) (10, 15)(12, 17), (1,4, 7, 15, 3, 10, 6, 17, 5, 12, 13, 18) (2, 16,9, 14, 8, 11), (1,9, 6)(2, 13, 3)(4, 12, 10) (5,8, 7)(15, 17, 18)]) = ((C3 x C3) : C3) : C



